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It died on the day it~ — 297 P71 51K IR 7720 0B IR 7RO 2192
was borrowed and this one says, ‘I do not know’; he is liable

Overview

The 71wn rules in the case where the 2°Xwn claims that 7n7n 799w 7037w 01°2 and the
5X1w admits that he does not know when it died, the rule is that the %X is 21! The
X3 explained that this ruling is valid only when the X was already obligated to
swear to the 2°Xwn for a different claim.? Our nN©OIN examines the need for this
qualification.

- 491935 NAVY POY YWIWA 11BN 29 319 SPI NN
1'"9, in the X923, establishes this ruling where there is already an involvement of
an oath between the 2Xwn SXW -

nvoIN asks:
- 5551 MIPINY PPN INANT PNYY 199399 NYP)

And the °'"1 has a difficulty; why is it necessary to establish the 71w in such a

manner (that he lent him another cow)-
= 699393 275 by NYAY 2NN 1YY N v5N INDAT

For even without this additional cow, the X is obligated to swear to the 2°5wn

for the disputed cow through %1353 -
- NN NNIYT YWY T8 9N 315 S NNN N9ITIT 1N 29 YANYOIN PIUN 1Y MINT

For the 222w says to the 101, ‘at least swear to me that it died naturally’,” and
through 3% the 22w will be required to swear that it was the ;7299w that died® -

! Presumably since 7°7y 72 Xnw1 >13; see footnote # 2.

2 This qualification was necessary to reconcile the 7awn according to those who maintain that by x»w1 >3, we do not

assume 9°7v "2, but rather X777 1799 107 RO,

3 On the 2 M.

4 There was an additional cow lent to the 9XWw (besides the disputed cow[s]). Regarding the additional cow, which also

died, the "X admits his liability, making him a nxpna 77 (the Xwn claims both the disputed cow(s) and the

additional cow, while the 12w admits to the additional cow [only]), so regarding the disputed cow, the X is required

to swear that he does not owe the 9>&wn for it. However he cannot swear, for he admits that ¥71° °1°X; he is therefore a

YW 9127 1K) A¥12W 27, in which case the rule is he has to pay for the disputed cow(s).

5> The n"27 mix1 amends this to read *577a (instead of °377). We are adding something which does not appear in the mwn.

659393 means ‘rolling on’. There is a rule that when 12187 is obligated to swear on something which Nw»w claims, Pwaw

has the option for making 12187 swear on other matters which Nnw»nw claims against 12187, even though for these other

claims 12181 would normally not be required to swear. This is called 712w 91373, we ‘roll” additional My1aw on him.

7 The 99w says he may be 1o since it could have died while it was 715w. Now even if it was certainly ann 7w,

the 75w would still be required to swear that 75775 7in»; that it was an 01, that he was not yw1».

8 Once the 2 is required to swear that 73772 7Ny, the 7°5wn can ask him to swear that it was 7nn 72w, which he
1
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= 795wn yavrh 119 1INRY I Y199 23N 9INP KDY YaYrY 5199 1N
But the 10w cannot swear that the 770w died, because the 7212 claims Y715 "9
whether the 710w died or the 77xW died, and since he cannot swear that 7731w

7nn, he has to pay -
= 199Y 9IN N NDINY 9N N3 2INPT PNINND 10N92)3 W91 23 9517

For this is also how the X923 explains our 7w», which stated, ‘this one (?°Xwn)

claims 7nn A9IRw (so the YW is 012 2°°17), and this one (the 10wW) claims 75w

N1 (so a 1)WY is Mwd by 1ONK), the rule is -
= 1199393 212 DY YavwIv NHN NNIVYY yay»

The 721w swears that 7n%» 79w; this concludes the mawn. The X3 explains!? that

he swears through 7312w 933%3. We see the X3 applies 712w 9193 to our mawn, why do we
not apply 712w 21393 to our case of 131 7N AYRY AN°W O3,

n1voIN asks in a similar vein:
= 9109 Y199 23R N NN NHN NNIYY 9IIN 99IWN NNYI¥HI 199

And similarly in the middle case where the 922 claimed that 7n% 7915w and the

oxwn said, I do not know; the rule is that the 701 is 2B -
= 7NN N99799 D YANWIN 199 N1YY MV INNIN)Y

But why should the 727w be mwp; let the 7°Own say to the 10w, ‘swear to me that

it died 172972’ (that it was an 01, but no 7v°wD) -
- 13950 N9UT YAWIY TII0N INY) 21

And then the 121 will be required, through 7312w %13%3, to swear that ;in» 790w,
but not that he should be Mo —

moon responds to an anticipated difficulty: !4

obviously cannot since he claims ¥71 *IX. See footnote # 9.

% The rule is regarding a n¥pna 77 where the M%7 claims he is owed a hundred 171, and the M> admits that he owes

fifty however regarding the other fifty he is unsure whether he owes it or not. The ruling is (he pays the fifty which he

admits, and) he is obligated to swear that he does not owe the other fifty, however since he claims ¥y71° °X he is called

a yaw° 12° 1KY 7312w 2707, so he has to pay the remaining fifty as well. The same applies here, since he cannot swear

that 7nn 7710w, he must pay for it. See ‘Thinking it over’ # 1.

103, mpoIN is proving from that X773 that in our 73wn the 2°Xwn is demanding a Ay12w that 797175 70y, therefore there

can be a 7y1aw 7173, Without this proof we could answer (as n9on does later) that the °Rwn is conceding that 7nn

79772, so there is no initial AW to generate a 712w 273,

"' The 70w is required to swear that the cow was 719773 7nn and through 2373 he must also swear that ann 719;

otherwise he must pay.

12 The X3 there asks, why should the 72w swear since the claim is for a 723w and the admission was for a 7Mow. In

this case there is no (7¥12w) 21n.

13 Presumably if the 121 refuses to swear he will be obligated to pay.

14 Perhaps my1aw 9193 is effective only if the claimant (in this case the 2°Xwn) has a 72 nwv (he claims it was 72Rw

7nn), however here since the 2°Xwn claims Y77 11X, it is not sufficient to allow him to demand a 7312w 91393 based on
2
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- 1599901 12 Y9 215 Yy 99V $2aWNY NI 919 A0 IV 1IUNNY 29 Yy N
For even though the 2°>w is doubtful in his claim (regarding 721%w), he can still

make the 229 swear 77077 32 that 701 7710w, through 9193, moon proves this -
- (owIx,n397) PYITPT NP P93 NI ¥N0I0N0 1209097

For we derive this from 729 in a X092 in the first P22 of 1PR7TP NOONK.

mooIN continues to question the m1wn:
= IPITNY INNN YT 23N 9MIN AT Y119 230N 9N I3 993 NOYDA)
And also in the 89°0, where this one said ¥71° °2°R and this one said Y71 >1°R, why
should they divide (the 12w pays for half the 7172)?
- BYYN 79955 515 HY YaWIY 9199 1INV TINN N%)
Let us say, since the 127 cannot swear through %3 that 7in» 775w, he should

pay!

In summation: since the 721w must swear (regardless of what the claims are) that 715772 fnn;
therefore Moon is asking three question. 1. In the case of Y71 "X WK 79 7N AR Nyw3a, why
was it necessary for the X713 to establish this in a case where there was an 712w poy, when there
is a 2w 217, And since he cannot swear he must pay. 2. In the case of R R 79m nn 770w
70D ¥, why is the 710D 72 he is a Av12W 211, so he should either swear or pay. 3. In the case
of Y717 1K1 Y717 *I°X the 727 is a vaw? 9127 K1 712w 2717 so he should pay.

N190IN answers:
= 1BHNTY NIPOLY NVIVT RINIT IRTI PPV YANIWI RIN 1P9X0951 PRT PN 13939Y NN

And it is the view of the 5" that we do not invoke 7312w %123, only when the

respondent claims with certainty, similar to 7w where her claim is certain -
= PVIDT NMIIT NN RDT PIIDIN PPN NAY 1MV ¥anny X9*0I PxYA HaN

a doubtful claim. [The ?°8wn certainly can demand the 7312w of 73772 1nn, for regarding this 712w all agree that the
70w needs to take this 7312w to exempt him from paying; this is not dependent on any claim.]
15 mpoin may be mentioning here that it is a 77107 12 AY1AWw 21N, for then if the 7707 12 A¥12w 217 (in this case the
791) does not wish to swear he must pay (even though the ¥21n is saying ¥71 °1°K). By a 11277 7312w we may not say
QoWn ¥aw7 2197 1KY I, [See 17 7"7 '010 on the '2 7y (TIE footnote # 36).]
16 The rule of Ay12w 91373 is derived from 70 who says (after she is adjured) 128 1% twice. This is interpreted to mean
one MX is that she accepts this oath that she did not have relations with this man with whom she was secluded, and the
second jnX that she accepts this oath also regarding any other person the husband suspects her (even if there was no
known seclusion). The initial oath by 7v10 is for a P50 niyv as well as the subsequent oath (the husband does not know
that she had relations with anyone [for if he knew she would be forbidden to him regardless of the oath]), this proves
that we say n¥12w 21323 even by a o0 nivw. See later in this NN (footnote # 41) where this ruling is qualified.
17 The 72w must always swear 73773 7naw (otherwise he has to pay), once he swears 73772 7Inaw he needs to swear
nnn Ao, if he cannot swear he should pay!
'8 The o claims with certainty, ‘I was not ;1m2’; otherwise we do not adjure her with the 0™x8n7 o°n.
19 This is the case where the 2Xwn claims Y71 "X IR 7271 100 7R,

3
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However in the first and last?® cases where the »an: is not sure, in such cases
there is no 91393, since it is not similar to r7ve.

mooin first answer (for cases one and three) is that there is no 712w 21323 unless the ¥an1 has a »a
claim, but not if the yani claims ¥71° *1°X. Mo01N addresses case # 2:
= INTY IV 1DIVNY IRNYINN NYP N

However there is a difficulty with the middle case where the 222 has a X™
claim!, why there do we not say that he should swear 7n» 72w through 1373 or pay!

moon answers (all three questions):
= 5 NIYTIV 9DINY N3 DINWUNN 1NNNYI 5999197 PN 13539 99IN)

And the "' answers that all three cases are discussing where the 8w believes

the 9272 in what the 227 claims that 719972 n» -
- 75 9 ¥aWIY PO 11N)

And is not requiring the 1212 to swear that it is so, that there is no initial 7312w which
can trigger a 1w 2173 that ann oW,

mooin second answer (to all three cases) is that the mwn is discussing cases where the 2°Xwn
believes the 707 that 715772 7nn, so therefore there is no initial 712w to trigger the 7v12w of A7MOW
ann.

maon responds to an anticipated difficulty:??
= NOYDT NMIIT M1 NDT N11295 1N

And it is not problematic that these three cases (where the 2°Xwn is 187 the "0W)

are not similar to the X0 -
= 23999313 13NV Y995199 1199V N N AYINY 9N AT

Where the >xwn claims 707 7982 and the 12w claims 7nn 9w, which this case

is in a situation where the 7°Xw» does not believe the 151w; this is not a difficulty -
= INNRNY D99 PR APYN 99IWNY AN DINUNNYT NOYDAT NIN NNDINT RNINT

For this is a natural occurrence, since in the X2°2 where the »xw» (who claims
nnn aRY) sees that the 22w is lying (he is claiming 7nn 7710W), it is not usual

20 This is where ¥ °°X 2R 7N 71. We have answered two out of the three questions M201n asked.
21 [Case # 2] ¥77 I°X IR 72 702 7110w MR W
22 mpon previously cited the X3 that the reason why in the case of 7MW IR AN A7RW WX 77 the rule is that he
swears M MWW because of a 712w 9123 from 719772 7nn. Meaning that the 2°Xwn did not believe the 12w that it
was 119772 1inn (in this case). How can we say that in the three (other) cases of the same m1wn, which maoin discusses,
is in a situation where the 7°Rwn believes the 19w. How can we say in the same m1wn that here he believes him and
here he does not believe him; either the 2>Xwn believes him always or he never believes him?!
23 Therefore he makes him swear that 75775 in» and 91323 >"v makes him swear 7nn2 770w,
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that the 5>xwn should believe the 22w that 719772 1inn, since he sees that he is lying regarding
ann a7dY -
= 9PWN DX Y117 1N NINY 1999 999IRND NIN D24 2RNYI8NA YaN

However in the middle case it is normal that he believes him that 75775 01, since

the 2°xwn does not know whether the 1212 is lying when he claims 7n» 77w, for the
2°Rwn admits that y71° "1X.

mooIn offers an alternate explanation:>
= 119979 NHNRY Y19 HINUNNIY 29999 NI 269 IN

Or we can also say that all cases are discussing where the 9’Xw» knew that 0%

719972 (and therefore in the three cases there is no 712w 91393) —
= 9N NNAVY 5NTH 27 DY P9prawnh NEIY 295 Y19 XY 18y NYIY 2ENDIDI)

However in the X5°9, the 2°xw» makes himself like he does not know that 7n»
1719772, and insists that the 121w swear that 75772 7in», because he wants to make the

257 swear through %1393 that n» 7w -
= PN NDINYY INTY Y7119 NINY DNNRN NTPY 91D

So that the 10w will admit to the truth that 7n» 79w, for the 2°xwn knows with

certainty that ;in» 72WNw -
= 19¥ 9399 1AW NY NN 1IN ONNYINNA AN

However in the middle case the 2°Xwn does not want to make the 15w swear that
79770 711 in order to be %% on him the 712w of nn 7MW -

= N N NIY NPNY D199 PYDN NINY »INN
Since the °Xwn is in doubt and he realizes that it is possible that the 12 is saying
the truth —

This 1"X answer is similar to the second answer with a slight variation that the °Xwn knows that 7nn
19770, except that in the case where 7nn 7MW MR 72 ANk T2RW, the 2Rwn since he knows the
oW is lying, is insisting that he swear 72775 i so he will need to swear 91323 *"'v that 7nn 770w,

24 See footnote # 21. Regarding case # 1 (Y71 "X IR 77 nnn 7218W) and case # 3 ¥ 1R X 71 71, there is no
question why the 2°Xwn believes him because he sees that he is honest (he claims ¥71° 1R, and not 707 77W).
25 This will explain why there is a AY12W 2323 by 7MW MR AN A2RW X 77, but no 9173 by the three cases.
26 The 1"X is not satisfied that sometimes the 2°Xwn believes the 92w (that 75773 7nn) and sometimes not; he either
always believes him or never.
27 The 2Xwn is not only 18n as MooIN stated in his previous answer, but rather the 9>Xwn actually knows that it was
719775 07 (as indicated by his claim nn a7ww, for if it was not 719772 Ny, the 12w is always liable even if i1 772W).
28 This is the case where 719w IR AN T2 VAW 17
2% The n"21 M1 amends this to read %y A2w» yawn? (not Yy Wwoawn?).
30 This is the case where ¥717 51X X 72 7719w R 1017, See footnote # 24 regarding cases 1 & 3.

5
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nvoIN asks:
= NTY IV YANIY IPANT ODIWY DAY PYITIN 357 YIND ON)

And if you will say; but how can we ever be 23%a% a ayaw, for even if the yan:

claims with certainty, he should still not be required to swear a 712w 2323 but rather -
- 319715 93X 92N S¥3 INT 992 JINI N

He should be believed with a %, for if he wanted he could have said, ‘I do not
know’ (in which case there would be no av1aw 73%3)!

NID0IN answers:
- 3259901 892 MINY HYIY DTN PPNT I DT PRT 90 U

And one can say; that this is not a valid 1%, for a person does not willingly

make himself as being unsure -
= 39715 9N IV NINY 292 NPIVY NHNN 9NDIN YAINIY NN IN 9D

For then it will appear that the claimant is telling the truth, for the ¥y21n claims
with certainty, and the ¥an1 claims ‘I don’t know’.

moo1n offers an additional answer regarding the Xny>xn:>*
= BRNY NIYL YIN PWIVYI PIIVIN PRT M0 U NI

And additionally one can say, that there is no 7312w %133 when the ¥2in has a

NP claim -
- (@ 3,00 97 TMPAYT POIVIAN) POIIN NPV 1N ¥NYP HI1TT 9272 NYN

Only in an instance where it is somewhat likely [that it is true]. For instance the

claims of sharecroppers and executers mentioned in N2 NJ0n -
— 0NN JIPININRTI 3ERINN 1INT DIVN 0NN YN MINY PIIIY

31 The *"1 taught us previously (see [text by] footnote # 18) that there is no 71w i3 if the ¥vani is not a >712. Our

Mmoo assumes that 1 is effective to exempt someone from a 712w (others however disagree).

32 A 1n is effective only if the claimant could have easily claimed either his actual claim or the 2 claim, if however

he is not likely to claim the 1, it is not an effective 1.

33 People assume that the one who is certain is telling the truth (not the one who is uncertain).

34 See footnote # 30. Why is there no Av1aw 7193 there to obligate the 931 to swear that ann 7MW (as he claims).

35 This is referring to the claim for which m901n wanted to obligate him to swear through 2193 (that 7nn 710W).

However if the initial claim was a X2w niyv and the subsequent claim was a 12 nwv there is a 712w 223 (see footnote

# 11 regarding 770w 1M A2RW MR 77 where the initial claim whether 779772 7n» or not is a X»w nivw, nevertheless

since the subsequent 71vv of 72X is a *RTY NIV there is a V1AW 7173 that nn 7710W). See footnote # 16.

36 The n"271 Mnx1 amends this to read 730 MR Ry NXp (instead of 132 NXP).

37 The rule regarding 191 PO™RM [12nWwn] Naw is that as long as they are PO XY oMW each one can be y»awn the

other even Xnw nivvl; perhaps you took too much money. However once they split, neither can be y°awn the other

Xnw niwwa. However if one of the partners was 2"1n a 712w to the other partner for another transaction, after they

split, the claiming partner can make his ex-partner (the 7¥12w 27m») swear on a X»Ww NIwv regarding their past

partnership, since there is 807 770,

38 %91 1 literally means they ‘offer a ruling of permission’ for themselves that they are permitted to take more
6
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For the 1P0917019X) 170X are accustomed to illegally derive benefit from their

friends,*® since they are an37 ;79% as the X3 states there -
- OPOIPND D) NPT RNY WINY Y NINDI NPPY 9379 D91V HOYD P

And we also have a ny12w 5123 where the ¥21n is a R»w, for instance by 7we, where
there is sufficient evidence since she was warned and secluded so we are

concerned that perhaps she was 7713% even by 1P0YR. However in our mwn there is no

reason to assume that the 72w (who claims 7in» 7715W) is not truthful -
= SHNTY NPV 2T DY NON 125230102 PYIVIN PN 799

So therefore in our ;73w there is no 712w a9 unless the 2°Xwn has a SX7Y nIyw.

Another explanation why there is no 712w 2193 in the second (317> IR WK 727 7nn 7M0W) and
third (¥7v 1R 0mIR 1"11) cases, because there is no 712w 913723 by a Xnw nvv, unless it is a 127
NAR MR T

mooIn asks:
= SN D27 1RV 927 HY 129N 1PUIADMNIY 1930 IRT NIYL DY 9NN ON)

And if you will say; how do we know that we are 3% on a 871 claim even if it

does not appear to be truthful -
- 9215 NDOY NVYON YINYIT 115

Since we derive 712w 9393 from ;7239 and by 7010 the claim is naxY 7217, as MOOIN just
taught, so maybe we are only 93731 on a claim which is naR 1% 7217 —

N190IN answers:
- TAN 1Y DYANY 1IN XYY HVIDN IIINY Y73 PN NIPIWN SBPYUrTpa 199951 9mY Y

And one can say that initially in }27p noon we derive 712w 1323 by monetary
matters through a 1"'p from ;710, who cannot be charged with one witness** -

than was agreed upon. See footnote # 39.
39 The sharecroppers take more than their share from the owners, and the executers take more from their charges,
because they convince themselves that they worked much harder than was required and deserve to receive more than
what was allotted to them.
40 The husband can make her swear that (not only was she not 7211 after P11 [when it was 7R nrin] but he can also
make her swear that) she was not 71m while she was his oM. It is naR naL am17 since we know that she is
promiscuous.
41 This explains why in the Xny>¥n (and in the third case where both say ¥71° *1X) there is no aAv1aw 91323, since the
2Rwn claims ¥71° *PR whether it was 7nn 728w or finn 715w, Here it is not R N 717 that it was 7nn A9WY any
more than 7nn 77DV,
42 See footnote # 16.
B x,m.
4 In order to force a D to swear that she was not 73, we require two 2>7v that 77n03; one 7v is insufficient.
Regarding money matters, however, one 7v against the respondent requires him to swear. The 1"p is; if by 7010 which
X"v2 7yan man1 8, nevertheless 123237, so by 1van which is X"v2 vana® 1001 surely 123730,
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=193 POV INT JNIUN NP 291 1N
And afterwards the X713 continues, ‘we found the w27 for 1721n2 732w 91393 for a

871 claim, how can we derive 17112 7312w 91393 even by a peo claim’ -
= 46590 Yy PYIYIN NVIDAT ) HY IN VI

The explanation of the s'X723 question is that even though that by a u© we are

Pos%an for a PE® so how can the X3 ask 1911 poo; the explanation is that the reason why by
700 wWe are PO Y 1A -
= 92231 PY NNT POV PYITIN 79D PO NIYL LY NI NWAVYN 9P DIV Drava DT

That is because the main 7¥12w of a 700 comes for a Po® claim, so therefore we

are oa%an for a poo, since the 712w 71373 is similar to the main 79w -
= 8990 DY 19IDX0W 10310 INTY NIYL DY RHN NN NN NWAYN 9PIYY PN YaN

However by 1%, where the main 732w only comes for a X7 niyw, so how can
we derive that there should be 91353 on a PoY; this is the s'x3 question.

MmooIN cites the s'RN) answer in PYYTP:
=915 5109392 NPAY NN 0NIND NYAYW NN YONYIY? Y39 237 2N

The 5''9 527 taught; a 7vaw is said (in the 7710) to be taken outside the 777v, and

a 72w is said to be taken inside, etc.>? This concludes the X3 in TwTp -
- SINDI9I N9IDY 195995 AMAY NIAWT MY DT KIN S0 999 11 13999813 XY XHWM)

So now we do not need the 1"'p to teach n¥12w 21393 by 1n, but rather we can

derive the entire rules of 7193 from the @'t of 12w AR -
- 557D N POV NPV YY 1IN 1PYIYINT 13599 KIWM)

4 The s'xm3 question requires an explanation; how you can you ask 1211 790, since we are deriving 17n from 00,
and by 1010 it is a XnW NIvY, so we know that there is 7¥12W 913723 on XYW NIYY
46 See footnote # 16. We do not know whether she was 7am other times.
47 The n"2n mman amends this to read 9077 (instead of poon).
48 The X m3 in the questions assumes that the 712w 21393 must be similar to the 7312w 7>y (both Po0 or both XT).
4 In our X3 text in TWNTP it reads 7RI MR "W XIN (instead of 7RI DRYAWS ' 727 *1N)
30 This refers to Tvan myaw (for X"y ,n¥pna 77 and 0> ww) which are taken outside the 71y,
3! This refers to the 7v0 Ny1aw which is administered inside the 771v. (We have a w"m of nv1aw ny1aw).
2 The Tm"% concludes that just as by the @192 712w we say >XT12 P90 772 7wy, similarly by the Y2 Av1aw we also say
X710 P20 2 7wy, The answer of the X713 has to be that since there is a w"m it does not matter that by 1n the 91323 is
not like the v (as it is by 7v0), rather the w"1a reveals to us that we are 93737 in all instances.
33 See footnote # 44. If we were to derive av12w 91323 by 17mn from 7w through a 1"'p, the question would remain, that
the 91393 must be similar to the 7312w p%v (either both P50 or both >XT). See following footnote # 54.
5% We derive from this w" (not only that pporT %¥ 192393) but the very rule that there is Tv12w 9123 by 171 just like by
7I0. Therefore since we derive it from a "7 (instead of a 1"p) we can broaden the scope of the 777 (that it applies
to a 73732 poo NIw by a NAR? M7 127 and it applies to 73232 XTI NIV even by a NHR? 7217 1KY D27 as MoOMN
continues to point out).
33 This refers to 191 oMW N2 since it is NR? 717 similar to 7. This is like 700 that the 91393 is N1A? 72177 7272
nnR, so the w"r gives us this latitude to include this as well.
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So therefore now we derive that we are 23532 by 171 even on a P50 niyw, just like

by e -
- AYAYN POY Y M NY PMMNAT 2 YY 9N

Even though that by 1% the 513%) (which is a pod n1vv) is not like the main mpaw
(which is a "R71 nwyw) -
=561 19NV 9273 179N INRTI NIYVI )PIITIIT 9 13299

And we also derive (from this w"1) that by a X7 n1yw by 171 we are 323% even
for something which is not likely [to be true] -

1991 PP PYIYINT AVIDA 1 7AP¥N 1Y NN 119
Since the latter claim is similar to the main claim, just as it is by 7vo that we are
baban a P90 claim which is like the main poo claim.

Summary
21393 only if the ¥an1 is *72. XAw NIwwva 193231 1K unless the claim is naRk Na mT.

The 71wn may be discussing where there is no need for 73775 AW 7AW,

Thinking it over

1. Moo asks in the case of 217 Y7V 1R W 72M 701 72w 0172, why does the X na
need to establish it in a case of T¥1aw poy, he is seemingly 7312w 21 that 72772 7nn,
so 91393 °"y he should be 2mmn to swear 7nNn 77W and 25wn yawsh 7120 wRY N8
However one can argue that we say »'"?°&w 7107 (by a 7312w 7173) only if the initial 7y
was a "2 nww (like by the example given of a n¥pna 771), however here the initial
712w that 72775 707 is on a XKW NIvw, for the 28wn does not know whether it was nn
119772 or not. Perhaps by a X»w nivv we do not say (by the 913%3) that n">Rxw 71nn?!°°

2. moon writes that we are 1°2273 (by a 717 X927 X7 NIvw) since the 193 is 13
1.9 Why therefore should we not be 73731 in the case of 72m A2RW AR DW
y71° 1R MR, where the initial 732w of 79775 1nn is PO Y, and the IY1Aw 7373
that nm 7799w is also P5071 7¥ so since the 9173 is 7> 12 we should say 779a%an!62

6 The n"271 M7 amends this to read 112 paR XA 717 (instead of 1173 17).
37 However, if the 91393 is a P50 N1wv which is not NAXY 7217, so it is not IP°wi M3 (which is a X7 N1ww) and it is not
like 70109 (which is nR? 7217), there is no AY1AW 21373, See ‘Thinking it over’ # 2.
8 See footnote # 9.
59 See later in this Maon (footnote # 36).
%0 See footnote # 52.
61 See footnote # 15-16.
2 See X"w i and (Prowara »? '79) 77 ma.
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